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BBA (Part - II)
Term End Examination, 2017-18

Group - B
Paper - II

Business Statistics

Time : Three Hours] [Maximum Marks : 75
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Note : Answer all questions. All questions carry equal

marks.

ZHh1S / Unit-I

TifEeht & Al 99T Hec ol TR HiWT |

Explain the functions and importance of
Statistics.

374l / OR

Tiferra fagm = Ry difsw | giferss]

% Hed Ud "ol o fag=m wifsu)

Define statistical Science. Discuss the
importance and limitations of Statistics.
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TH1 / Unit-I1
TSI THHR (TAHE) I THA HEH &
fafy=r Ofaat -0 @ €2 398 ®F 999
aifyer favaaa & sk =i 2

What are the various methods of collecting
statistical data (primary) ? Which of these is
most reliable and why ?

3I4qT/ OR
qHkh Hehed (Hifaetd ST{EYM) i GIUH
fafy iR fagela fafy & qo-<i =t ga
HIFSTT |

Compare the merits and demerits of the
census and sampling methods of collection of
data (statistical invetigation).

THhTS / Unit-I1T

FAfaiad STihsl & HEAHT hl UM hiTIT :

Uik 9 HH 80 [ 70 |60 [ 50|40 |30 |20] 10

BET T T&A | 10090 [80 |60 [ 32| 20]13] 5

Calculate Median from the following data :

Marks less then 80 | 70| 60|50 [40 | 30 |20 | 10

No. of Students [ 100] 90| 80 [60 |32 [ 20 |13 ] 5

T4l / OR
Fefafad stieel § a8al a1 foumar Tunieh

Ad hiTIT :

s | 58] 59|60 61|62 (63 |64 |65]66

EIEl 151203213533 (22 |20 (10| 8
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(3)

Calculate Bowley’s coefficient of skewness
from the following data :

Height |58 5960 61| 62| 63|64 |65]|66
Student [ 15[ 20 (32| 35|33 | 22|120|10] 8

THE / Unit-IV
4. TfafEa el 9 X Td Y 90U & deuady
IMIESIGEET I L
X | 17118 (19 (19(20] 2021121 22|23
Y 1216 |14 |11 {151 1922 (16| 15]20

Find the coefficient of correlation between X
and Y variables from the data given below :

X | 1718119 (19120 20|21 |21(22]23
Y| 12|16 |14 |11 |15 19|22|16| 15|20

37g4qr / OR

frefafad sl @ fReR w1 eTeel gaehish
T HINT :

YR aH EIGECL
ELs| h1Hd O h1Hd qr=
SISE 16 50 24 45
ERES 18 30 24 25
IEZNRII 20 5 15 8
e 10 6 12 6
fatay 10 10 14 12
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(4)

Calculate Fisher’s ideal index number from
the following data :

Base Year Current Year
Commodity | Price | Quantity | Price | Quantity
Food 16 50 24 45
Clothing 18 30 24 25
Rent 20 5 15 8
Fuel 10 6 12 6
Misc. 10 10 14 12
THT / Unit-V

frefafaa vesl o 18Rl &l Teh 1Y oI
fohdd AT AT o™ ST Hohd © 2

D

In how many ways can the letters of the
following words be arranged separately ?

(a) STATISTICS
(b) ASSASSINATION
(c) MANAGEMENT

3794 / OR
doferar @ o aread € 2 gEet o o
7?2

What is meant by Probability ? What are its
characteristics ?
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